
Compatible VIVOTEK CamerasI

Compatible brackets Supported Cameras
AM-714 IB836BA-EHF3/EHT/HF3/HT, IB8382-EF3/ET/F3/T, IB9371-EHT/HT, IB9381-EHT/HT
AM-719 IB836BA-EHF3/EHT/HF3/HT, IB8382-EF3/ET/F3/T, IB9371-EHT/HT, IB9381-EHT/HT, 

IB9365-EHT/HT, IB9367-EHT/HT/H, IB8377-EHT/HT

AM-218 (via AM-714/
AM-719)

Please refer to AM-218, AM-520, and AM-525 documents. 

Directly attached Supported Cameras
* IB836BA-EHF3/EHT/HF3/HT, IB8382-EF3/ET/F3/T, IB9371-EHT/HT, IB9381-EHT/HT, 

IB9365-EHT/HT, IB9367-EHT/HT/H, IB8377-EHT/HT, IB8367A, IB8369A, IB8377-H, 
IB8379-H, MS8391-EV, MS9390-HV

* The directly-attached configuration is less recommended for the lack of waterproof and cabling
protection. If directly attached, you should properly wrap the rear-end cables and connectors with
waterproof protection such as putties.

Revision History:
Rev. 1.0: Initial release;	  Rev. 1.1: Added mounting holes for IB8367A, IB8369A, IB8377, and IB8379.
Rev. 1.2: Added MS9390-HV as the supported model. 

Corresponding ordering part numbers: 
AM-312:	 900034801G, AM-714:	 100134800G
AM-218:	 100146100G AM-719:   100184500G

VIVOTEK Mounting Accessories
AM-312 Pole mount

Technical Specifications

Package Contents
Items 1. Pole mount bracket, 2. Stainless strap x2, 3. M6X20mm screws x4. 4. M5X20mm

screws x4,  5. Hex L wrench 5mm x1, 6. Hex L wrench 4mm x1, 7. M4x15 screws x4.

M6X20 X4

5mm X1

M5X20 X4

4mm X1

Stainless steeel strap X2

M4X15 X4

Rev. 1.2

Dimensions




